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QUESTION 1

A common, but older alternative to the XML Schema Definition Language is: Select the correct answer. 

A. Hypertext Markup Language 

B. Extensible Markup Language 

C. Document Type Definitions 

D. XML Data Model Definition Language 

Correct Answer: C 

 

QUESTION 2

The HTTP protocol can be used together with SOAP-based Web services and REST services. Select the correct
answer. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

Which of the following technologies can be used to enable the exchange of data between services? Select the correct
answer. 

A. SOAP 

B. HTTP 

C. WSDL 

D. All of the above. 

Correct Answer: D 

 

QUESTION 4

Which of the following are valid HTTP methods? SELECT ALL THAT APPLY 

A. Get 

B. Upload 

C. Put 
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D. Delete 

Correct Answer: ACD 

 

QUESTION 5

XSLT is a technology that is primarily used to address _____________________ . Select the correct answer. 

A. technology protocol bridging requirements (such as when .NET and Java components need to speak to each other) 

B. data model transformation requirements (such as when similar data based on different XML schemas needs to be
exchanged) 

C. layer transformation requirements (such as when data located in different architectural layers needs to be exchanged
between architectural layers) 

D. service transformation requirements (such as when two versions of the same service exist) 

Correct Answer: B 
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